Math 114 NAME:

Midterm 2
Mon May 19, 2008

1] Write 0.0000812 in scicntific notation.
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[2] Writc 4.3 x 107 in standard notation.
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}31 Simplify. Your answer should use only positive exponents.
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[4] Wrilc using fractional and/or negative cxponents.
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5] Simplify. You may write your answers using either radicals or fractional exponents.
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[6] Rationalize the denominator, and simplify.
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7] Divide. Rationalize the denominator and simplify, if possible. [8 POINTS]
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81 Divide. Write your answer using fractional and/or negative exponents. |8 POINTS]
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9] If the length of a leg of a right angle triangle is 7 inches, and the length of the hypotencuse
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is 11 inches, find the length of the other leg. Round your answers to 3 decimal points.
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[10] Simplify. Write your answers using radicals.
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[11]  Find the distancc between the points (2,—7) and (—8,-13). [10 POINTS]
Write your answer as a radical, and simplify.
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[12] Solve using algebra.
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Check your answers for full credit. You must show algebraic solutions to receive credit.
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